Resolution for Setting Council Tax for 2025/26

That Council approves:

- 1 The revenue budget as set out in Annex 1 to the report.
- 2. The 2025/26 capital budget as set out in Annex 5 to the report.
- 3. That the 2025/26 revenue expenditure is funded as follows:

	Total £
2025/26 Gross Expenditure	482,532,586
2025/26 Income (service income and specific grants)	287,282,039
Core Funding:	
Retained Business Rates*	65,860,942
2025/26 Gross Income	353,142,981
Council Tax Requirement (excluding Parish Precepts)	129,389,605

^{*} Before Tariff Payment of £42.956m

- 4. a) That it be noted that on the 12th December 2024 the Chief Financial Officer (as authorised section 151 officer) agreed **70,973.86** Band D property equivalent as the Council Tax Base for the year 2025/26 in accordance with regulation 3 of the Local Authorities (Calculation of Council Tax Base) Regulations 1992 made under Section 35(5) of the Local Government Finance Act 1992.
- b) The amounts calculated by the Council, in accordance with Regulation 6 of the Regulations, as the amount of its Council Tax Base for the year for dwellings in those parts of its area to which one or more special items relate is given as Annex 1 (1). [Annex 1 (1) gives Band D Tax base by parish]
- 5. That the following amounts be now calculated by the Council for the 2025/26 financial year in accordance with Sections 31 to 36 of the Local Government and Finance Act 1992, as amended:
- a) £486,727,827 (=£482,532,586 (gross expenditure including contribution to reserves) +£4,195,241 (Parish precepts)) being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(2) of the 1992 Act. [This is the gross expenditure incurred in performing functions and charged to the revenue account, contingencies for revenue, any financial reserves to be raised, financial reserves to meet prior year deficit not yet provided for, any amounts transferred from its general fund to its collection fund in accordance with section 97(4) of the Local Government Finance 1988 Act, and any amounts transferred from general fund to collection fund under section 98(5) of 1988 Act.]
- b) £353,142,981 (gross income) being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the 1992 Act. [This is the income estimated to accrue which will be credited into the revenue account for the year in accordance with proper practices, any amounts transferred in the year from the collection fund to the general fund in accordance with section 97(3) of the 1988 Act, any amounts which will be transferred from the collection fund to the general fund pursuant to a direction under section 98(4) of the 1988 Act and will be credited to the revenue account for the year, and financial reserves used to provide for items in Section 31A(2)]

- c) £133,584,846 being the amount by which the aggregate at 5(a) above exceeds the aggregate at 5(b) above calculated by the Council in accordance with Section 31A(4) of the 1992 Act as its **Council Tax requirement** for the year.
- d) £ 1,882.17 being the amount at 5(c) above divided by the amount at 4(a) above, calculated in accordance with Section 31B of the 1992 Act, as the basic amount of Council Tax for the year.

[This is the average Band D Council tax including B&NES and parish precepts]

- e) £ 4,195,241 being the aggregate amount of all special items (Parish precepts) referred to in Section 34(1) of the 1992 Act. [This is the total of parish precepts]
- f) £1,823.06 being the amount at 5(d) above less the result given by dividing the amount at 5(e) above by the amount at 4(a) above, calculated by the Council, in accordance with Section 34(2) of the 1992 Act, as the basic amount of its council tax for the year for dwellings in those parts of its area to which no special item relates.

 [This is the B&NES Band D Council tax only excluding parish precepts]
- g) The amounts given by adding to the amount at 5(f) above the amounts of special items or items relating to dwellings in those parts of the Council's area mentioned above divided in each case by the amount at 4(b) above, calculated by the Council, in accordance with section 34(3) of the 1992 Act, as the basic amount of its Council Tax for the year for dwellings in those parts of its area to which one or more special items relate are given at Annex 1 (3).

[Annex 1 (3) gives the Band D Council tax for each area **including** the parish precepts]

h) The amounts given by multiplying the amounts at 5(g) above by the number which, in the proportion set out in Section 5(1) of the Act, is applicable to dwellings listed in a particular valuation band divided by the number which in that proportion is applicable to dwellings listed in valuation band D, calculated by the Council, in accordance with Section 36(1) of the 1992 Act, as the amounts to be taken into account for the year in respect of categories of dwellings listed in different valuation bands are given in Annex 1 (4). [Annex 1 (4) shows the B&NES and parish Council Tax for all bands.]

Precepting Authorities

6. That it be noted that for the year 2025/26 the Police & Crime Commissioner for Avon and Somerset has determined the amount in precepts issued to the Council in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of the dwellings shown below:-

7. Avon and Somerset Police

Valuation Bands

Α	В	С	D	Е	F	G	Н
£195.47	£228.04	£260.62	£293.20	£358.36	£423.51	£488.67	£586.40

8. That it be noted that for the year 2025/26 Avon Fire Authority met on 14th February 2025 to determine the amounts in precepts issued to the Council in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of the dwellings shown below:-

9. Avon Fire Authority

Valuation Bands

	0						
Α	В	С	D	Е	F	G	Н
£60.29	£70.33	£80.38	£90.43	£110.53	£130.62	£150.72	£180.86

- 10. That, having calculated the aggregate in each case of the amounts 7, 9 and 5(h) above, the Council, in accordance with Sections 30 and 36 of the Local Government Finance Act 1992 hereby sets the following amounts as the amounts of Council Tax for the 2025/26 financial year for each of the categories of dwellings shown, as listed in Annex 1 (5).
- 11. On average (for a Band D, 2 adult household) the Council Tax for 2025/26 will be as follows:

Reference		£ Band D	% Increase on
Band D		2025/26	2024/25
2024/25£			
1,484.14	Bath and North East Somerset Council*	1,536.06	2.99*
252.28	- Adult Social Care (ASC)*	287.00	2.00*
1,736.42	Sub Total B&NES (Including ASC)	1,823.06	4.99
54.34	Average Parish Precept	59.11	8.78
85.43	Avon Fire Authority	90.43	5.85
279.20	Avon and Somerset Police	293.20	5.01
2,155.39	Total Tax Charged	2,265.80	5.12

[Overall annual increase in average Band D Council Tax is £110.41]

12. The Council's basic amount of Council Tax for 2025/26 is not determined to be excessive in accordance with principles approved under section 52ZB Local Government Finance Act 1992.

^{*} The percentage figures represent the number of percentage points which increases for the Adult Social Care precept and the B&NES general expenditure charge each contribute to the overall increase set by the Council in 2025/26.

Band D Tax Base Bath and North East Somerset Council Annex 1 (1)

Band D Tax Base Bath and North East Somerset Council	Annex 1 (1)
Town/Parish/City of:-	Tax Base
Bath	34,285.01
Bathampton	783.65
Batheaston	1,204.23
Bathford	867.04
Camerton	278.16
Charlcombe	228.96
Chelwood	69.76
Chew Magna	692.70
Chew Stoke	490.60
Claverton	85.94
Clutton	626.39
Combe Hay	109.12
Compton Dando	308.66
Compton Martin	263.64
Corston	198.82
Dunkerton & Tunley	245.10
East Harptree	336.38
Englishcombe	147.41
Farmborough	527.79
Farrington Gurney	330.63
Freshford	329.61
High Littleton	868.80
Hinton Blewett	143.40
Hinton Charterhouse	244.15
Kelston	88.74
Keynsham	7,170.27
Marksbury	193.81
Midsomer Norton	4,150.55
Monkton Combe	190.24
Nempnett Thrubwell	112.17
Newton St. Loe	77.75
North Stoke	52.81
Norton Malreward	111.97
Paulton	2,150.78
Peasedown St. John	2,168.25
Priston	130.30
Publow with Pensford	504.13
Radstock	1,785.84
St. Catherine	47.57
Saltford	1,831.83
Shoscombe	180.41
South Stoke	381.38
Stanton Drew	327.34
Stowey Sutton	691.64
Swainswick	136.10
Owallowick	130.10

Town/Parish/City of:-	Tax Base
Temple Cloud with Cameley	546.50
Timsbury	974.85
Ubley	185.02
Wellow	259.34
West Harptree	239.69
Westfield	1,923.02
Whitchurch	695.61
TOTAL	70,973.86

Annex 1 (2)

Charter Trust / Parish Council Tax Rates 2025/26

Parish/Charter Trust/Town	Precept £	Tax base	Band D £
Council			
Bath	£269,138	34,285.01	£7.85
Bathampton	£47,800	783.65	£61.00
Batheaston	£135,240	1,204.23	£112.30
Bathford	£38,841	867.04	£44.80
Camerton	£25,519	278.16	£91.74
Charlcombe	£5,000	228.96	£21.84
Chelwood	£4,000	69.76	£57.34
Chew Magna	£39,500	692.70	£57.02
Chew Stoke	£23,000	490.60	£46.88
Claverton	£2,500	85.94	£29.09
Clutton	£67,093	626.39	£107.11
Combe Hay	£9,792	109.12	£89.74
Compton Dando	£13,196	308.66	£42.75
Compton Martin	£24,000	263.64	£91.03
Corston	£14,714	198.82	£74.01
Dunkerton & Tunley	£15,000	245.10	£61.20
East Harptree	£16,800	336.38	£49.94
Englishcombe	£12,510	147.41	£84.87
Farmborough	£60,500	527.79	£114.63
Farrington Gurney	£14,692	330.63	£44.44
Freshford	£39,160	329.61	£118.81
High Littleton	£40,500	868.80	£46.62
Hinton Blewett	£12,071	143.40	£84.18
Hinton Charterhouse	£20,264	244.15	£83.00
Kelston	£2,500	88.74	£28.17
Keynsham	£849,002	7,170.27	£118.41
Marksbury	£10,500	193.81	£54.18
Midsomer Norton	£613,907	4,150.55	£147.91
Monkton Combe	£13,661	190.24	£71.81
Nempnett Thrubwell	£6,693	112.17	£59.67
Newton St. Loe	£11,043	77.75	£142.03
North Stoke	£0	52.81	£0.00

Parish/Charter Trust/Town	Precept £	Tax base	Band D £
Council			
Norton Malreward	£4,000	111.97	£35.72
Paulton	£326,985	2,150.78	£152.03
Peasedown St. John	£362,271	2,168.25	£167.08
Priston	£8,768	130.30	£67.29
Publow with Pensford	£28,159	504.13	£55.86
Radstock	£335,811	1,785.84	£188.04
St. Catherine	£750	47.57	£15.77
Saltford	£59,417	1,831.83	£32.44
Shoscombe	£11,380	180.41	£63.08
South Stoke	£23,398	381.38	£61.35
Stanton Drew	£19,372	327.34	£59.18
Stowey Sutton	£35,000	691.64	£50.60
Swainswick	£4,000	136.10	£29.39
Temple Cloud with Cameley	£44,000	546.50	£80.51
Timsbury	£107,100	974.85	£109.86
Ubley	£16,600	185.02	£89.72
Wellow	£16,842	259.34	£64.94
West Harptree	£13,752	239.69	£57.37
Westfield	£274,500	1,923.02	£142.74
Whitchurch	£45,000	695.61	£64.69
Total	£4,195,241	70,973.86	£59.11

B&NES Council Tax Band D Rates 2025/26 - including parishes but without Police and Fire Precept

Parish/Charter Trust/Town Council	Council	Parish Parish	Total Band D		
	element of	Precept Band	Council Tax £		
	Band D Council				
	Tax £	£			
Bath	£1,823.06	£7.85	£1,830.91		
Bathampton	£1,823.06	£61.00			
Batheaston	£1,823.06	£112.30	£1,935.36		
Bathford	£1,823.06	£44.80	£1,867.86		
Camerton	£1,823.06	£91.74	£1,914.80		
Charlcombe	£1,823.06	£21.84	£1,844.90		
Chelwood	£1,823.06	£57.34	£1,880.40		
Chew Magna	£1,823.06		£1,880.08		
Chew Stoke	£1,823.06	£46.88	£1,869.94		
Claverton	£1,823.06	£29.09	£1,852.15		
Clutton	£1,823.06	£107.11	£1,930.17		
Combe Hay	£1,823.06	£89.74	£1,912.80		
Compton Dando	£1,823.06				
Compton Martin	£1,823.06		· · · · · · · · · · · · · · · · · · ·		
Corston	£1,823.06		£1,897.07		
Dunkerton & Tunley	£1,823.06				
East Harptree	£1,823.06				
Englishcombe	£1,823.06		£1,907.93		
Farmborough	£1,823.06				
Farrington Gurney	£1,823.06		£1,867.50		
Freshford	£1,823.06		£1,941.87		
High Littleton	£1,823.06		£1,869.68		
Hinton Blewett	£1,823.06				
Hinton Charterhouse	£1,823.06	£83.00			
Kelston	£1,823.06	£28.17	£1,851.23		
Keynsham	£1,823.06		£1,941.47		
Marksbury	£1,823.06	£54.18			
Midsomer Norton	£1,823.06	£147.91	£1,970.97		
Monkton Combe	£1,823.06		£1,894.87		
Nempnett Thrubwell	£1,823.06	£59.67	£1,882.73		
Newton St. Loe	£1,823.06				
North Stoke	£1,823.06	£0.00	£1,823.06		
Norton Malreward	£1,823.06	£35.72	£1,858.78		
Paulton	£1,823.06				
Peasedown St. John	£1,823.06		·		
Priston	£1,823.06		·		
Publow with Pensford	£1,823.06		· · · · · · · · · · · · · · · · · · ·		
Radstock	£1,823.06				
St. Catherine	£1,823.06		£1,838.83		
Saltford	£1,823.06		£1,855.50		
Shoscombe	£1,823.06				
South Stoke	£1,823.06				
		~ ~ ~	~ . ,		

Parish/Charter Trust/Town Council	Council element of Band D Council	Parish Precept Band D Council Tax	Total Band D Council Tax £
	Tax £	£	
Stanton Drew	£1,823.06	£59.18	£1,882.24
Stowey Sutton	£1,823.06	£50.60	£1,873.66
Swainswick	£1,823.06	£29.39	£1,852.45
Temple Cloud with Cameley	£1,823.06	£80.51	£1,903.57
Timsbury	£1,823.06	£109.86	£1,932.92
Ubley	£1,823.06	£89.72	£1,912.78
Wellow	£1,823.06	£64.94	£1,888.00
West Harptree	£1,823.06	£57.37	£1,880.43
Westfield	£1,823.06	£142.74	£1,965.80
Whitchurch	£1,823.06	£64.69	£1,887.75

B&NES Council Tax Rates 2025/26 - including parishes but without Police and Fire Precept

Danes Council Tax	Rales 2025/20	5 - IIICIUUIII G	<u>i parisnes but</u>	WILLIOUL POIL	ce and rife ri	ecept		
£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Bath	£1,220.60	£1,424.04	£1,627.48	£1,830.91	£2,237.78	£2,644.65	£3,051.51	£3,661.82
Bathampton	£1,256.04	£1,465.37	£1,674.72	£1,884.06	£2,302.75	£2,721.42	£3,140.10	£3,768.12
Batheaston	£1,290.24	£1,505.27	£1,720.32	£1,935.36	£2,365.45	£2,795.52	£3,225.60	£3,870.72
Bathford	£1,245.24	£1,452.77	£1,660.32	£1,867.86	£2,282.95	£2,698.02	£3,113.10	£3,735.72
Camerton	£1,276.53	£1,489.28	£1,702.05	£1,914.80	£2,340.32	£2,765.82	£3,191.33	£3,829.60
Charlcombe	£1,229.93	£1,434.92	£1,639.91	£1,844.90	£2,254.88	£2,664.86	£3,074.83	£3,689.80
Chelwood	£1,253.60	£1,462.53	£1,671.47	£1,880.40	£2,298.27	£2,716.13	£3,134.00	£3,760.80
Chew Magna	£1,253.38	£1,462.28	£1,671.18	£1,880.08	£2,297.88	£2,715.67	£3,133.46	£3,760.16
Chew Stoke	£1,246.62	£1,454.39	£1,662.17	£1,869.94	£2,285.49	£2,701.03	£3,116.56	£3,739.88
Claverton	£1,234.76	£1,440.56	£1,646.36	£1,852.15	£2,263.74	£2,675.33	£3,086.91	£3,704.30
Clutton	£1,286.78	£1,501.24	£1,715.71	£1,930.17	£2,359.10	£2,788.02	£3,216.95	£3,860.34
Combe Hay	£1,275.20	£1,487.73	£1,700.27	£1,912.80	£2,337.87	£2,762.93	£3,188.00	£3,825.60
Compton Dando	£1,243.87	£1,451.18	£1,658.50	£1,865.81	£2,280.44	£2,695.06	£3,109.68	£3,731.62
Compton Martin	£1,276.06	£1,488.73	£1,701.42	£1,914.09	£2,339.45	£2,764.80	£3,190.15	£3,828.18
Corston	£1,264.71	£1,475.49	£1,686.29	£1,897.07	£2,318.65	£2,740.21	£3,161.78	£3,794.14
Dunkerton & Tunley	£1,256.17	£1,465.53	£1,674.90	£1,884.26	£2,302.99	£2,721.71	£3,140.43	£3,768.52
East Harptree	£1,248.66	£1,456.77	£1,664.89	£1,873.00	£2,289.23	£2,705.45	£3,121.66	£3,746.00
Englishcombe	£1,271.95	£1,483.94	£1,695.94	£1,907.93	£2,331.92	£2,755.90	£3,179.88	£3,815.86
Farmborough	£1,291.79	£1,507.09	£1,722.39	£1,937.69	£2,368.29	£2,798.89	£3,229.48	£3,875.38
Farrington Gurney	£1,245.00	£1,452.49	£1,660.00	£1,867.50	£2,282.51	£2,697.50	£3,112.50	£3,735.00
Freshford	£1,294.58	£1,510.34	£1,726.11	£1,941.87	£2,373.40	£2,804.92	£3,236.45	£3,883.74
High Littleton	£1,246.45	£1,454.19	£1,661.94	£1,869.68	£2,285.17	£2,700.65	£3,116.13	£3,739.36
Hinton Blewett	£1,271.49	£1,483.40	£1,695.33	£1,907.24	£2,331.08	£2,754.90	£3,178.73	£3,814.48
Hinton Charterhouse	£1,270.70	£1,482.49	£1,694.28	£1,906.06	£2,329.63	£2,753.20	£3,176.76	£3,812.12
Kelston	£1,234.15	£1,439.84	£1,645.54	£1,851.23	£2,262.62	£2,674.00	£3,085.38	£3,702.46
Keynsham	£1,294.31	£1,510.03	£1,725.75	£1,941.47	£2,372.91	£2,804.35	£3,235.78	£3,882.94
Marksbury	£1,251.49	£1,460.07	£1,668.66	£1,877.24	£2,294.41	£2,711.57	£3,128.73	£3,754.48

B&NES Council Tax Rates 2025/26 - including parishes but Without Police and Fire Precept (continued)

£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Midsomer Norton	£1,313.98	£1,532.97	£1,751.98	£1,970.97	£2,408.97	£2,846.96	£3,284.95	£3,941.94
Monkton Combe	£1,263.24	£1,473.78	£1,684.33	£1,894.87	£2,315.96	£2,737.04	£3,158.11	£3,789.74
Nempnett Thrubwell	£1,255.15	£1,464.34	£1,673.54	£1,882.73	£2,301.12	£2,719.50	£3,137.88	£3,765.46
Newton St. Loe	£1,310.06	£1,528.40	£1,746.75	£1,965.09	£2,401.78	£2,838.46	£3,275.15	£3,930.18
North Stoke	£1,215.37	£1,417.93	£1,620.50	£1,823.06	£2,228.19	£2,633.31	£3,038.43	£3,646.12
Norton Malreward	£1,239.18	£1,445.71	£1,652.25	£1,858.78	£2,271.85	£2,684.91	£3,097.96	£3,717.56
Paulton	£1,316.72	£1,536.18	£1,755.64	£1,975.09	£2,414.00	£2,852.91	£3,291.81	£3,950.18
Peasedown St. John	£1,326.76	£1,547.88	£1,769.02	£1,990.14	£2,432.40	£2,874.65	£3,316.90	£3,980.28
Priston	£1,260.23	£1,470.27	£1,680.31	£1,890.35	£2,310.43	£2,730.51	£3,150.58	£3,780.70
Publow with Pensford	£1,252.61	£1,461.38	£1,670.15	£1,878.92	£2,296.46	£2,714.00	£3,131.53	£3,757.84
Radstock	£1,340.73	£1,564.18	£1,787.65	£2,011.10	£2,458.02	£2,904.92	£3,351.83	£4,022.20
St. Catherine	£1,225.88	£1,430.20	£1,634.52	£1,838.83	£2,247.46	£2,656.09	£3,064.71	£3,677.66
Saltford	£1,237.00	£1,443.16	£1,649.34	£1,855.50	£2,267.84	£2,680.17	£3,092.50	£3,711.00
Shoscombe	£1,257.42	£1,466.99	£1,676.57	£1,886.14	£2,305.29	£2,724.43	£3,143.56	£3,772.28
South Stoke	£1,256.27	£1,465.65	£1,675.03	£1,884.41	£2,303.17	£2,721.93	£3,140.68	£3,768.82
Stanton Drew	£1,254.82	£1,463.96	£1,673.10	£1,882.24	£2,300.52	£2,718.79	£3,137.06	£3,764.48
Stowey Sutton	£1,249.10	£1,457.29	£1,665.48	£1,873.66	£2,290.03	£2,706.40	£3,122.76	£3,747.32
Swainswick	£1,234.96	£1,440.79	£1,646.62	£1,852.45	£2,264.11	£2,675.76	£3,087.41	£3,704.90
Temple Cloud with								
Cameley	£1,269.04	£1,480.55	£1,692.06	£1,903.57	£2,326.59	£2,749.60	£3,172.61	£3,807.14
Timsbury	£1,288.61	£1,503.38	£1,718.15	£1,932.92	£2,362.46	£2,792.00	£3,221.53	£3,865.84
Ubley	£1,275.18	£1,487.71	£1,700.25	£1,912.78	£2,337.85	£2,762.91	£3,187.96	£3,825.56
Wellow	£1,258.66	£1,468.44	£1,678.22	£1,888.00	£2,307.56	£2,727.11	£3,146.66	£3,776.00
West Harptree	£1,253.62	£1,462.55	£1,671.50	£1,880.43	£2,298.31	£2,716.18	£3,134.05	£3,760.86
Westfield	£1,310.53	£1,528.95	£1,747.38	£1,965.80	£2,402.65	£2,839.49	£3,276.33	£3,931.60
Whitchurch	£1,258.50	£1,468.24	£1,678.00	£1,887.75	£2,307.26	£2,726.75	£3,146.25	£3,775.50

B&NES Council Tax Rates 2025/26 with Parish, Police and Fire Precept

m rax race	0 2020/20 With	· · · · · · · · · · · · · · · · · · ·	o arra r mo r ro	7001			
Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
£1,476.36	£1,722.41	£1,968.48	£2,214.54	£2,706.67	£3,198.78	£3,690.90	£4,429.08
£1,511.80	£1,763.74	£2,015.72	£2,267.69	£2,771.64	£3,275.55	£3,779.49	£4,535.38
£1,546.00	£1,803.64	£2,061.32	£2,318.99	£2,834.34	£3,349.65	£3,864.99	£4,637.98
£1,501.00	£1,751.14	£2,001.32	£2,251.49	£2,751.84	£3,252.15	£3,752.49	£4,502.98
£1,532.29	£1,787.65	£2,043.05	£2,298.43	£2,809.21	£3,319.95	£3,830.72	£4,596.86
£1,485.69	£1,733.29	£1,980.91	£2,228.53	£2,723.77	£3,218.99	£3,714.22	£4,457.06
£1,509.36	£1,760.90	£2,012.47	£2,264.03	£2,767.16	£3,270.26	£3,773.39	£4,528.06
£1,509.14	£1,760.65	£2,012.18	£2,263.71	£2,766.77	£3,269.80	£3,772.85	£4,527.42
£1,502.38	£1,752.76	£2,003.17	£2,253.57	£2,754.38	£3,255.16	£3,755.95	£4,507.14
£1,490.52	£1,738.93	£1,987.36	£2,235.78	£2,732.63	£3,229.46	£3,726.30	£4,471.56
£1,542.54	£1,799.61	£2,056.71	£2,313.80	£2,827.99	£3,342.15	£3,856.34	£4,627.60
£1,530.96	£1,786.10	£2,041.27	£2,296.43	£2,806.76	£3,317.06	£3,827.39	£4,592.86
£1,499.63	£1,749.55	£1,999.50	£2,249.44	£2,749.33	£3,249.19	£3,749.07	£4,498.88
£1,531.82	£1,787.10	£2,042.42	£2,297.72	£2,808.34	£3,318.93	£3,829.54	£4,595.44
£1,520.47	£1,773.86	£2,027.29	£2,280.70	£2,787.54	£3,294.34	£3,801.17	£4,561.40
£1,511.93	£1,763.90	£2,015.90	£2,267.89	£2,771.88	£3,275.84	£3,779.82	£4,535.78
£1,504.42	£1,755.14	£2,005.89	£2,256.63	£2,758.12	£3,259.58	£3,761.05	£4,513.26
£1,527.71	£1,782.31	£2,036.94	£2,291.56	£2,800.81	£3,310.03	£3,819.27	£4,583.12
£1,547.55	£1,805.46	£2,063.39	£2,321.32	£2,837.18	£3,353.02	£3,868.87	£4,642.64
£1,500.76	£1,750.86	£2,001.00	£2,251.13	£2,751.40	£3,251.63	£3,751.89	£4,502.26
£1,550.34	£1,808.71	£2,067.11	£2,325.50	£2,842.29	£3,359.05	£3,875.84	£4,651.00
£1,502.21	£1,752.56	£2,002.94	£2,253.31	£2,754.06	£3,254.78	£3,755.52	£4,506.62
£1,527.25	£1,781.77	£2,036.33	£2,290.87	£2,799.97	£3,309.03	£3,818.12	£4,581.74
£1,526.46	£1,780.86	£2,035.28	£2,289.69	£2,798.52	£3,307.33	£3,816.15	£4,579.38
£1,489.91	£1,738.21	£1,986.54	£2,234.86	£2,731.51	£3,228.13	£3,724.77	£4,469.72
£1,550.07	£1,808.40	£2,066.75	£2,325.10	£2,841.80	£3,358.48	£3,875.17	£4,650.20
	Band A £1,476.36 £1,511.80 £1,546.00 £1,501.00 £1,532.29 £1,485.69 £1,509.36 £1,509.14 £1,502.38 £1,490.52 £1,542.54 £1,530.96 £1,499.63 £1,531.82 £1,520.47 £1,511.93 £1,527.71 £1,504.42 £1,527.71 £1,547.55 £1,500.76 £1,550.34 £1,502.21 £1,527.25 £1,526.46 £1,489.91	Band A Band B £1,476.36 £1,722.41 £1,511.80 £1,763.74 £1,546.00 £1,803.64 £1,501.00 £1,751.14 £1,532.29 £1,787.65 £1,485.69 £1,733.29 £1,509.36 £1,760.90 £1,509.14 £1,760.65 £1,502.38 £1,752.76 £1,490.52 £1,738.93 £1,542.54 £1,799.61 £1,530.96 £1,786.10 £1,531.82 £1,787.10 £1,520.47 £1,773.86 £1,511.93 £1,763.90 £1,504.42 £1,755.14 £1,527.71 £1,782.31 £1,547.55 £1,805.46 £1,500.76 £1,750.86 £1,527.25 £1,781.77 £1,526.46 £1,780.86 £1,489.91 £1,738.21	Band A Band B Band C £1,476.36 £1,722.41 £1,968.48 £1,511.80 £1,763.74 £2,015.72 £1,546.00 £1,803.64 £2,061.32 £1,501.00 £1,751.14 £2,001.32 £1,532.29 £1,787.65 £2,043.05 £1,485.69 £1,733.29 £1,980.91 £1,509.36 £1,760.90 £2,012.47 £1,509.14 £1,760.65 £2,012.18 £1,502.38 £1,752.76 £2,003.17 £1,490.52 £1,738.93 £1,987.36 £1,542.54 £1,799.61 £2,056.71 £1,530.96 £1,786.10 £2,041.27 £1,499.63 £1,787.10 £2,042.42 £1,531.82 £1,787.10 £2,042.42 £1,520.47 £1,773.86 £2,027.29 £1,511.93 £1,763.90 £2,015.90 £1,504.42 £1,755.14 £2,005.89 £1,527.71 £1,780.86 £2,001.00 £1,550.34 £1,805.46 £2,063.39 £1,527.25 £1,78	Band A Band B Band C Band D £1,476.36 £1,722.41 £1,968.48 £2,214.54 £1,511.80 £1,763.74 £2,015.72 £2,267.69 £1,546.00 £1,803.64 £2,061.32 £2,318.99 £1,501.00 £1,751.14 £2,001.32 £2,251.49 £1,532.29 £1,787.65 £2,043.05 £2,298.43 £1,485.69 £1,733.29 £1,980.91 £2,228.53 £1,509.36 £1,760.90 £2,012.47 £2,264.03 £1,509.38 £1,752.76 £2,003.17 £2,253.57 £1,490.52 £1,738.93 £1,987.36 £2,235.78 £1,530.96 £1,786.10 £2,041.27 £2,296.43 £1,531.82 £1,787.10 £2,042.42 £2,297.72 £1,520.47 £1,773.86 £2,027.29 £2,280.70 £1,511.93 £1,763.90 £2,015.90 £2,249.44 £1,575.14 £2,005.89 £2,256.63 £1,500.42 £1,755.14 £2,005.89 £2,256.63 £1,507.71 £1,	Band A Band B Band C Band D Band E £1,476.36 £1,722.41 £1,968.48 £2,214.54 £2,706.67 £1,511.80 £1,763.74 £2,015.72 £2,267.69 £2,771.64 £1,546.00 £1,803.64 £2,061.32 £2,318.99 £2,834.34 £1,501.00 £1,751.14 £2,001.32 £2,251.49 £2,751.84 £1,532.29 £1,787.65 £2,043.05 £2,298.43 £2,809.21 £1,485.69 £1,733.29 £1,980.91 £2,228.53 £2,723.77 £1,509.36 £1,760.90 £2,012.47 £2,264.03 £2,767.16 £1,509.14 £1,760.65 £2,012.18 £2,263.71 £2,766.77 £1,502.38 £1,752.76 £2,003.17 £2,253.57 £2,754.38 £1,490.52 £1,738.93 £1,987.36 £2,235.78 £2,732.63 £1,542.54 £1,799.61 £2,056.71 £2,313.80 £2,827.99 £1,530.96 £1,786.10 £2,041.27 £2,296.43 £2,806.76 £1,499.63 £1,777.10	£1,476.36 £1,722.41 £1,968.48 £2,214.54 £2,706.67 £3,198.78 £1,511.80 £1,763.74 £2,015.72 £2,267.69 £2,771.64 £3,275.55 £1,546.00 £1,803.64 £2,061.32 £2,318.99 £2,834.34 £3,349.65 £1,501.00 £1,751.14 £2,001.32 £2,251.49 £2,751.84 £3,252.15 £1,532.29 £1,787.65 £2,043.05 £2,298.43 £2,809.21 £3,319.95 £1,485.69 £1,733.29 £1,980.91 £2,228.53 £2,723.77 £3,218.99 £1,509.36 £1,760.90 £2,012.47 £2,264.03 £2,767.16 £3,270.26 £1,509.14 £1,760.65 £2,012.18 £2,263.71 £2,766.77 £3,269.80 £1,502.38 £1,752.76 £2,003.17 £2,253.57 £2,754.38 £3,255.16 £1,490.52 £1,738.93 £1,987.36 £2,235.78 £2,732.63 £3,229.46 £1,530.96 £1,786.10 £2,041.27 £2,296.43 £2,806.76 £3,317.06 £1,499.63 £1,78	Band A Band B Band C Band D Band E Band F Band G £1,476.36 £1,722.41 £1,968.48 £2,214.54 £2,706.67 £3,198.78 £3,690.90 £1,511.80 £1,763.74 £2,015.72 £2,267.69 £2,771.64 £3,275.55 £3,779.49 £1,546.00 £1,803.64 £2,061.32 £2,318.99 £2,834.34 £3,349.65 £3,864.99 £1,501.00 £1,751.14 £2,001.32 £2,251.49 £2,751.84 £3,252.15 £3,752.49 £1,532.29 £1,787.65 £2,043.05 £2,288.43 £2,802.11 £3,319.95 £3,830.72 £1,485.69 £1,733.29 £1,980.91 £2,228.53 £2,723.77 £3,218.99 £3,714.22 £1,509.36 £1,760.65 £2,012.47 £2,264.03 £2,767.16 £3,270.26 £3,773.39 £1,509.14 £1,760.65 £2,012.18 £2,263.71 £2,766.77 £3,269.80 £3,772.85 £1,592.38 £1,752.76 £2,003.17 £2,253.78 £2,734.88 £3,255.16 £3,755.95<

B&NES Council Tax Rates 2025/26 with Parish, Police and Fire Precept

£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Marksbury	£1,507.25	£1,758.44	£2,009.66	£2,260.87	£2,763.30	£3,265.70	£3,768.12	£4,521.74
Midsomer Norton	£1,569.74	£1,831.34	£2,092.98	£2,354.60	£2,877.86	£3,401.09	£3,924.34	£4,709.20
Monkton Combe	£1,519.00	£1,772.15	£2,025.33	£2,278.50	£2,784.85	£3,291.17	£3,797.50	£4,557.00
Nempnett Thrubwell	£1,510.91	£1,762.71	£2,014.54	£2,266.36	£2,770.01	£3,273.63	£3,777.27	£4,532.72
Newton St. Loe	£1,565.82	£1,826.77	£2,087.75	£2,348.72	£2,870.67	£3,392.59	£3,914.54	£4,697.44
North Stoke	£1,471.13	£1,716.30	£1,961.50	£2,206.69	£2,697.08	£3,187.44	£3,677.82	£4,413.38
Norton Malreward	£1,494.94	£1,744.08	£1,993.25	£2,242.41	£2,740.74	£3,239.04	£3,737.35	£4,484.82
Paulton	£1,572.48	£1,834.55	£2,096.64	£2,358.72	£2,882.89	£3,407.04	£3,931.20	£4,717.44
Peasedown St. John	£1,582.52	£1,846.25	£2,110.02	£2,373.77	£2,901.29	£3,428.78	£3,956.29	£4,747.54
Priston	£1,515.99	£1,768.64	£2,021.31	£2,273.98	£2,779.32	£3,284.64	£3,789.97	£4,547.96
Publow with Pensford	£1,508.37	£1,759.75	£2,011.15	£2,262.55	£2,765.35	£3,268.13	£3,770.92	£4,525.10
Radstock	£1,596.49	£1,862.55	£2,128.65	£2,394.73	£2,926.91	£3,459.05	£3,991.22	£4,789.46
St. Catherine	£1,481.64	£1,728.57	£1,975.52	£2,222.46	£2,716.35	£3,210.22	£3,704.10	£4,444.92
Saltford	£1,492.76	£1,741.53	£1,990.34	£2,239.13	£2,736.73	£3,234.30	£3,731.89	£4,478.26
Shoscombe	£1,513.18	£1,765.36	£2,017.57	£2,269.77	£2,774.18	£3,278.56	£3,782.95	£4,539.54
South Stoke	£1,512.03	£1,764.02	£2,016.03	£2,268.04	£2,772.06	£3,276.06	£3,780.07	£4,536.08
Stanton Drew	£1,510.58	£1,762.33	£2,014.10	£2,265.87	£2,769.41	£3,272.92	£3,776.45	£4,531.74
Stowey Sutton	£1,504.86	£1,755.66	£2,006.48	£2,257.29	£2,758.92	£3,260.53	£3,762.15	£4,514.58
Swainswick	£1,490.72	£1,739.16	£1,987.62	£2,236.08	£2,733.00	£3,229.89	£3,726.80	£4,472.16
Temple Cloud with								
Cameley	£1,524.80	£1,778.92	£2,033.06	£2,287.20	£2,795.48	£3,303.73	£3,812.00	£4,574.40
Timsbury	£1,544.37	£1,801.75	£2,059.15	£2,316.55	£2,831.35	£3,346.13	£3,860.92	£4,633.10
Ubley	£1,530.94	£1,786.08	£2,041.25	£2,296.41	£2,806.74	£3,317.04	£3,827.35	£4,592.82
Wellow	£1,514.42	£1,766.81	£2,019.22	£2,271.63	£2,776.45	£3,281.24	£3,786.05	£4,543.26
West Harptree	£1,509.38	£1,760.92	£2,012.50	£2,264.06	£2,767.20	£3,270.31	£3,773.44	£4,528.12
Westfield	£1,566.29	£1,827.32	£2,088.38	£2,349.43	£2,871.54	£3,393.62	£3,915.72	£4,698.86
Whitchurch	£1,514.26	£1,766.61	£2,019.00	£2,271.38	£2,776.15	£3,280.88	£3,785.64	£4,542.76